Supplemental Impact Installation Clip Instructions

NOTE: Instructions below are intended to replace fastener details described in Step
4 of the “Installation Guidelines and Homeowner Warranty” document sent
with the unit.

\W/INDSOI

INDOWS & DOOI

Needed Parts
Impact Installation Clip — P/IN: 460024
#8 x 1-1/47 Screw — P/N: 8036
#8 x 3/47 Screw — P/N: 2370091

m Apply Installation Clips Around Unit

Installation Clip Location

Single Unit
Single/Double Fixed Unit Mulled Configuration
Hung Unit |_7 15" OC 4»| |_,_ S T
| B * B Bl B MAX
J ] =
E" #

J_ X 4" MAX
} ix
LAl
Apply Clips 6"
Above and Below
] Checkrail

.ﬁ-

i of All Mulls

-
L

Insert 2x #8 X 3/4" Screws
Securing Installation Clip to
Frame

“_\ — Apply 2 Clips
“_\ ) on Both sides
e

Edge of Installation
Clip to Align with
Nailfin Kerf

I I Insert Unit in to Framing, I I I

Secure Installation Clips to Interior Secure Installation Clips to Exterior

Fold Installation Clip

Around Framing Insert 1x #8 X 1-1/4" Screw
Securing Installation Clip to
Framing Exterior

Insert 1x #8 X 1-1/4"
Screw Securing Installation
Clip to Framing Interior

Impact Clip Installation Instructions.doc — 4/26/17



